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Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

1-She studied diligently every night ... she could pass her exams with flying colors and secure a
scholarship to her dream university.
1) whereas 2) in order that 3) since 4) otherwise
2-The imposition of new regulations ... small businesses caused significant challenges, forcing many
owners to adapt quickly or risk shutting down their operations permanently.
1) to 2) in 3)on 4) within
3-The project faced numerous setbacks and challenges; ..., the team remained committed, working
tirelessly to meet the deadline and deliver exceptional results.
1) although 2) therefore 3)soas to 4) nonetheless
4-The crowd eagerly awaited the performance, knowing ... European singer of great renown would
soon grace the stage.
l)a 2) these 3)an 4) other
5-The event was postponed ... the weather forecast predicted fierce storms, causing concerns for safety
and prompting organizers to reschedule to ensure everyone’s well-being and enjoyment.
1) unless 2) as 3) consequently 4) such that
6-The stakeholders of the project had demanded that the project ... by the established deadline in order
to meet the expectations of the clients.
1) complete 2) be completed 3) completed 4) would be completed
7-She takes meticulous care in crafting her messages, lest they ... or misinterpreted due to lack of clarity
or context.
1) misconstrue 2) misconstrued 3) were misconstrued 4) be misconstrued
8-If she ... her passion for art, dedicating her time and energy to honing her skills, she would
undoubtedly unleash her boundless creative potential.
1) were to pursue 2) be to pursue 3) is to pursue 4) will pursue
9-Building a new children’s home will cost a lot of money but, ... that as it may, there is an urgent need
for the facility.
1)itis 2)is 3) to be 4) be
10-The men at City Hall insist that big spending cuts ... practical, as they believe it would lead to
detrimental effects on public services.

1) is not 2) not be 3) are not 4) not to be
11-She is ... she often works late to ensure projects are completed on time.

1) so dedicated an employee that 2) such dedicated an employee

3) such an dedicated employee that 4) so a dedicated employee

12-The legal rights afforded to citizens in democratic societies ... of individuals living under authoritarian
regimes.
1) by far are the more extensive than those
2) are far more extensive than that
3) are quite more extensive than that
4) are far more extensive than those
13-The new hybrid vehicle design achieves fuel efficiency that is twice ... the competing electric models,
setting a new standard for sustainable transportation.

1) more impressive than 2) more impressive than that of
3) as impressive as that of 4) impressive enough to
14-The firm’s success in a ... can be attributed to its strong leadership and commitment to excellence.
1) competitive fiercely environment 2) competitive environment fiercely
3) fiercely competitive environment 4) fiercely environment competitive

15-She possessed ... knowledge of the local language but managed to communicate effectively with
stakeholders.
1) very a few 2) only a little 3) very a little 4) only a few
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Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

16-As a high-powered attorney, it might come as a surprise that a man of his ... would be afraid of anything.
1) honesty 2) stature 3) spirit 4) temper
17-Due to recency ..., the hiring manager tends to favor the candidates that were interviewed last
because they are easier to remember, even though they might not be the best qualified for the job.

1) error 2) event 3) bias 4) illusion
18-Travelers should stick to prescribed paths and not even ... wading through cultivated land.

1) decide 2) argue 3) contemplate 4) regret
19-If they ..., they learn about being good teammates and having a better work ethic.

1) plow it back 2) chuck it away 3) stick it out 4) keel over
20-The TV show will ... those looking for both riveting drama and offbeat comedy.

1) fulfill 2) please 3) assure 4) amend

21-The unexpected emergency call for immediate action and coordinated efforts among the community
members highlighted the urgency of the situation and the need for ... resolution.

1) swift 2) vibrant 3) fragrant 4) deranged
22-Scientists hope that data from the probe will ... the way for a more detailed exploration of Mars.
1) pave 2) forge 3) promote 4) facilitate
23- After hearing about the recent outbreak, Sarah decided to ... clear of crowded places to minimize her
risk of getting sick.
1) seep 2) deem 3) creep 4) steer
24-The ... noise from the construction site made it difficult for the residents to find peace and quiet.
1) transient 2) momentary 3) ephemeral 4) perpetual

25-The ... storm caused widespread damage, leaving many homes destroyed and countless families
without power.
1) mild 2) muffled 3) severe 4) serene
26-1 was ... captivated by the breathtaking landscape that stretched out behind me, showing the
harmonious blend of colorful flowers and pristine natural beauty.
1) symbolically 2) utterly 3) globally 4) uniformly
27-The groundbreaking research presented a novel ... model for understanding the mechanisms
underlying the formation and spread of misinformation in social media networks.
1) insightful 2) rigid 3) vulnerable 4) conceptual
28-In preparation for the trip, the team leader took great care to ... themselves to the local geography,
customs, and potential hazards they might encounter.
1) orient 2) extract 3) export 4) confine
29-Although the patient’s family members initially provided verbal ... for the surgical procedure, the
medical team recommended that they follow up with written authorization to avoid potential legal
complications.
1) consequence 2) aspect 3) assumption 4) consent
30-The young girl, a victim of ... due to her family’s socioeconomic status, struggled to find acceptance
among her peers, leading to feelings of isolation and low self-esteem.
1) erosion 2) discrimination 3) manipulation 4) occupation
31-In an effort to bridge the gap between generations, the community leader encouraged younger
members to avoid ... down on the experience of their elders.
1) cutting 2) breaking 3) looking 4) settling
32-Founded in 1929, The Museum of Modern Art (MoMA) in midtown Manhattan was the first
museum ... to the modern era.

1) developed 2) shared 3) announced 4) devoted
33- Amelia struggled to ... the habit of biting her nails, but getting regular manicures helped her.
1) make 2) drop 3) kick 4) leave

34-A member of the UK’s parliament said that the Netherlands’ refusal to allow its officials to enter the
country will amplify the ... between the two nations.
1) restrictions 2) compilations 3) tensions 4) innovations
35-Unsure of where to go for their vacation, the Browns decided to visit Merrickville, one of the most
beautiful villages in Ontario, on a close friend’s ... .
1) motivation 2) acknowledgement 3) recommendation 4) guidance
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Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct
choice on your answer sheet.

36-
1) The high cost of houses as well as a shortage of affordable properties has resulted in so much elevated
prices that fewer people are able to purchase their own homes.
2) The highly cost of houses and a shortage of affordable properties has resulted in such elevated prices
that less people are able to purchase their own homes.
3) The high cost of houses as well as a shortage of affordable properties has resulted in such elevated
prices that fewer people are able to purchase their own homes.
4) The highly costs of houses, elevated prices and shortages of affordable properties have resulted in less
able people to purchase their own homes.
37-
1) I believe which we should provide greater assistance and support for soldiers sustained severe injuries in
the combat.
2) I believe that we should provide greater assistance and support for soldiers having sustained severe
injuries in combat.
3) What I believe is that we should provide for soldiers greater assistances and support them having
sustained severe injuries in combat.
4) What I believe we should do is provide soldiers with greater assistances and support for those who
sustain severe injuries in the combat.
38-
1) Hiva, the first to earn a degree in her family, achieved academic success from a prestigious university,
despite the fact that neither of her parents attended college.
2) The first to earn a degree in her family, Hiva achieved academic success from a prestigious university,
but neither of whose parents attended college.
3) Hiva, the first earning a degree in her family, achieved academic success from a prestigious university,
neither of her parents having attended in college.
4) The first earning a degree in her family, Hiva achieved academic success from a prestigious university,
regardless of neither of her parents attended in college.
39-
1) The ever-changing and unpredictable nature of the vast oceans have presented whales a significant and
formidable challenge to navigate in this season.
2) The ever-changing and unpredictable nature of the vast oceans present whales to a significant and
formidable challenge and navigate in this season.
3) The ever-changing and unpredictable nature of the vast oceans have been presented whales by a
significant and formidable challenge so that they navigate in this season.
4) The ever-changing and unpredictable nature of the vast oceans has presented whales with a significant
and formidable challenge to navigate in this season.
40-
1) The makes of the cars which involved in the accident were not specified, but the police chief indicated
that the majority were foreign models.
2) The makes of the cars involved in the accident were not specified, but the police chief indicated that the
majority were foreign models.
3) The makes of the cars involving in the accident which it has not been specified by the police chief
indicated that majority were foreign models.
4) The makes of the involved cars in the accident that they have not specified by the police chief indicated
that majority were foreign models.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

A: Carl, have you checked out our competitor’s latest smartphone?

B: No, I haven’t. What’s new about it?

A: They really ...(41)... with their new camera technology. The quality is outstanding.

B: Wow, that’s impressive. Are there any similar innovations ...(42)... for us?

A: Yes, our R&D team has some exciting projects in the works. I think they’re about to ...(43)... up
with a winner.

B: That’s great to hear. We need to stay ahead in this competitive market.
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41-1) raised the bar 2) threw down the gauntlet

3) beat a dead horse 4) kept up with the Joneses
42-1) on the line 2) on the horizon 3) in full swing 4) up in the air
43-1) arrive 2) think 3) come 4) appear

A: Emma, I just looked at the initial design for the new website.
B: Oh no, how is it?
A: Honestly, it looks like they ...(44)... . The layout is confusing, and the colors clash.
B: That sounds terrible. But remember, nothing is set in ...(45)... . We can still make changes before
the final version is launched.
A: You’re right. We definitely need to give it a complete overhaul.
44-1) played it cool 2) took a rain check on it 3) slept on it 4) made a pig’s ear of it
45-1) paper 2) stone 3) rock 4) metal

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

Precipitation, commonly referred to as rainfall, is a measure of the quantity of atmospheric water in the
form of rain, hail, or snow ...(46)... the ground. The average yearly precipitation over the whole of the
United States is thirty-six inches per year. It should be understood, ...(47)..., that all precipitation is not
measured equally. For example, a foot of snow does not equal a foot of precipitation. According to the
general ....(48)... for computing the precipitation of snowfall, ten inches of snow equals one inch of
precipitation. In upper New York State, for example, ....(49)... typically a large amount of snowfall every
winter, a hundred inches of snow in one year would be recorded as only ten inches of precipitation. On
the other hand, rain is rain. Forty inches of rain would be recorded as forty inches of precipitation. The
total ...(50)... precipitation for an area with forty inches of rain and one hundred inches of snow would
be recorded as fifty inches of precipitation.

The amount of precipitation that an area ...51)... a combined result of several factors, including
location, altitude, ...(52)... to the sea, and the direction of prevailing winds. Most of the precipitation in
the United States ....(53)... originally by prevailing winds from the Pacific Ocean, the Gulf, of Mexico,
the Atlantic Ocean, and the Great Lakes. Because these prevailing winds ....(54)... come from the west,
the Pacific Coast receives more precipitation than the Atlantic Coast. Along the Pacific Coast itself,

altitude ...(55)... .
46-1) that reaches 2) reached 3) and reach 4) reaches
47-1) however 2) even though 3) therefore 4) regardless
48-1) sentiment 2) prosperity 3) summary 4) formula
49-1) where is 2) where there is 3) which is 4) there is
50-1) optical 2) annual 3) prompt 4) trivial
51-1) receives and is 2) is receiving 3) receives is 4) receives to be
52-1) fidelity 2) security 3) proximity 4) hostility
53-1) are brought 2) brings 3) bring 4) is brought
54-1) generally 2) suddenly 3) inadvertently 4) intentionally
55-1) and rainfall cause some diversity 2) causes some diversity in rainfall

3) causes rainfall in some diversity 4) in some diversity cause rainfall

Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions
about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Each advance in microscopic technique has provided scientists with new perspectives on the function
of living organisms and the nature of matter itself. The invention of the visible-light microscope late in
the sixteenth century introduced a previously unknown realm of single-celled plants and animals. In
the twentieth century, electron microscopes have provided direct views of viruses
and minuscule surface structures. Now another type of microscope, one that utilizes X-rays rather than
light or electrons, offers a different way of examining tiny details; it should extend human perception
still farther into the natural world.

The dream of building an X-ray microscope dates to 1895; its development, however, was virtually
halted in the 1940’s because the development of the electron microscope was progressing rapidly.
During the 1940’s, electron microscopes routinely achieved resolution better than that possible with a
visible-light microscope, while the performance of X-ray microscopes resisted improvement. In recent
years, however, interest in X-ray microscopes has revived, largely because of advances such as the
development of new sources of X-ray illumination. As a result, the brightness available today is millions
of times as much as that of X-ray tubes, which, for most of the century, were the only available sources
of soft X-rays.
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The new X-ray microscopes considerably improve on the resolution provided by optical microscopes.
They can also be used to map the distribution of certain chemical elements. Some can form pictures
in extremely short times; others hold the promise of special capabilities such as three-dimensional
imaging. Unlike conventional electron microscopy, X-ray microscopy enables specimens to be kept in
air and in water, which means that biological samples can be studied under conditions similar to their
natural state. The illumination used, in so-called soft X rays in the wavelength range of twenty to forty
angstroms (an angstrom is one ten-billionth of a meter), is also sufficiently penetrating to image intact
biological cells in many cases. Because of the wavelength of rays used, soft X-ray microscopes will never
match the highest resolution possible with electron microscopes. Rather, their special properties will
make possible investigations that will complement those performed with light- and electron-based
instruments.

56-What does the passage mainly discuss?
1) The detail seen through a microscope 2) Sources of illumination for microscopes
3) A new kind of microscope 4) Outdated microscope techniques
57-According to the passage, the invention of the visible-light microscope allowed scientists to ... .
1) see viruses directly
2) develop the electron microscope later on
3) understand more about the distribution of the chemical elements
4) discover single celled plants and animals they had never seen before
58-The word “minuscule” in paragraph 1 is closest in meaning to ... .
1) circular 2) dangerous 3) complex 4) tiny
59-Why did it take so long to develop the x-ray microscope?
1) Funds for research were insufficient.
2) The source of illumination was not bright enough until recently.
3) Materials used to manufacture x-ray tubes were difficult to obtain.
4) X-ray microscopes were too complicated to operate.
60-Based on the information in the passage, what can be inferred about x-ray microscopes in the future?
1) They will eventually change the illumination range that they now use.
2) They will provide information not available from other kinds of microscopes.
3) They will eventually be much cheaper to produce than they are now.
4) They will probably replace electron microscopes altogether.
PASSAGE 2:
Social networking sites play an important role in the lives of many young people. Over 60% of 13-17
year olds have at least one profile on a social networking site, many spending more than 2 hours per day
there.

Some potential benefits of social networking sites for kids are staying connected to friends, developing
new social contacts with peers with similar interests, sharing content of self-expression such as
artworks, music and political views, developing and expressing their individual identity. However,
online social networking can involve new risks such as sharing too much information, presence of
predatory adults, sharing photos or videos that you later regret, exposure to large amounts of
commercial advertisements which may not be age-appropriate, and reduced amount of time for
physical activity.

Young people need support and education to develop the skills needed to understand the risks and
opportunities of social networking sites, so talk to your children before they sign up for an account
about the rules in your house on social networking sites, the monitoring you will do on their Internet
usage, the limits on time allowed on these sites that may occur if their usage interferes with family time
or external social activities.

Social networking sites are a widely accepted part of many teenagers’ lives and proactive parenting
can help them be a fun part of their teenager’s social life. However, if you feel your adolescent is
spending too much time on social networking sites or is involved in inappropriate behaviors while using
these sites, please seek out the help of a professional who can help you and your child find balance and
appropriateness in the usage of this medium.

61-This passage has been written for an audience of ....

1) children 2) teenagers 3) parents 4) teachers
62-Paragraph 2 is mainly about ... .

1) why social networks are not really useful for kids

2) how social networking can enhance a kid’s life

3) how to spend less time on social media

4) the advantages and disadvantages of social networks
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63- According to paragraph 4, social networking sites are a/an ... accepted part of many teenagers’ lives.

1) extensively 2) limitlessly 3) logically 4) currently
64-All of the following are the possible ways for parents to control the kids’ use of social media EXCEPT ... .

1) setting rules on the use of social media 2) monitoring how much Internet they’re using

3) forbidding them from creating profiles 4) balancing social networking and family time
65-The word “them” in paragraph 4 refers to ... .

1) lives 2) social networking sites

3) teenagers 4) parents

PASSAGE 3:

In taking up a new life across the Atlantic, the early European settlers of the United States did not
abandon the diversions with which their ancestors had traditionally relieved the tedium of life. Neither
the harshness of existence on the new continent nor the scattered population nor the disapproval of the
clergy discouraged the majority from the pursuit of pleasure.

City and country dwellers, of course, conducted this pursuit in different ways. Farm dwellers in their
isolation not only found it harder to locate companions in play but also, thanks to the unending
demands and pressures of their work, felt it necessary to combine fun with purpose. No other set of
colonists took so seriously one expression of the period, “Leisure is time for doing something useful.” In
the countryside, farmers therefore relieved the burden of the daily routine with such double-purpose
relaxations as hunting, fishing, and trapping. When a neighbor needed help, families rallied from miles
around to assist in building a house or barn, husking corn, shearing sheep, or chopping wood. Food,
drink, and celebration after the group work provided relaxation and soothed weary muscles.

The most eagerly anticipated social events were the rural fairs. Hundreds of men, women, and children
attended from far and near. The men bought or traded farm animals and acquired needed merchandise,
while the women displayed food prepared in their kitchens, and everyone, including the youngsters,
watched or participated in a variety of competitive sports, with prizes awarded to the winners. These
events typically included horse races, wrestling matches, and foot races, as well as some non-athletic events
such as whistling competitions. No other occasions did so much to relieve the isolation of farm existence.
With the open countryside everywhere at hand, city dwellers naturally shared in some of the rural
diversions. Favored recreations included fishing, hunting, skating, and swimming. But city dwellers also
developed other pleasures, which only compact communities made possible.

66-What can be inferred about the diversions of the early settlers of the United States?
1) They followed a pattern begun in Europe.
2) They were enjoyed more frequently than in Europe.
3) The clergy organized them.
4) Only the wealthy participated in them.
67-Which of the following can be said about the country dwellers’ attitude toward “the pursuit of pleasure”?
1) They felt that it should help keep their minds on their work.
2) They felt that it was not necessary.
3) They felt that it should be productive.
4) They felt that it should not involve eating and drinking.
68-The phrase “eagerly anticipated” in paragraph 3 is closest in meaning to ... .
1) well organized 2) old-fashioned 3) strongly opposed 4) looked forward to
69-Which of the following can be said about the rural diversions mentioned in the last paragraph in
which city dwellers also participated?
1) They were useful to the rural community.
2) They involved the purchase of items useful in the home.
3) They were activities that could be done equally easily in the towns.
4) They were all outdoor activities.
70-What would the author most probably discuss in the paragraph following this passage?
1) The rural diversions enjoyed by both urban and rural people
2) Leisure activities of city dwellers
3) Building methods of the early settlers in rural areas
4) Changes in the lifestyles of settlers as they moved to the cities
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